30 30 34 3 36 36 - 38 3 a-bc circolare 15 — — -— 288 720 36
40 40 325 48 48 - 36 3 a-bc creolare -— — —- -— 240 576 24
40 40 44 35 47 47 - 75 3 a-b-c circolare 25 - —- .= 120 288 12
=0 50 5 > 60 60 - 72 3 a-b-c circolare == === === == 144 2852 -
50 5B 55 5 60 60 - 140 3 a-bc circolare 35 — — -— EBD 200 12
60 B0 25 5 70 70 - 98 3 a-bc circolare -— — —- -— 126 218 =
60 60 65 5 70 70 - 236 3 a-b-c circolare 40 == == -= 50 130 -
70 70 25 75 85 85 - 121 3 a-b<c circolare == == =- -— 8D 1862 -
70 70 5 [ B2 82 - 335 3 a-bc circolare 50 — — -— 36 24 -
BO 80 25 65 93 93 - 145 3 a-b-c circolare == == == == 50 182 -
BO 80 85 65 93 93 - 476 3 a-b-c circolare 55 === w- == 20 56 -
100 100 25 8 116 116 - 215 3 a-bc circolare == == == == 3§ 8D —-
100 100 50 8 116 116 - 410 3 a-bc circolare ~— — — -— 18 45 -
100 100 108 & 116 116 - BOS 32 a-b-c circolare 75 — —- -— 14 44 -



